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Section A: 3x1 = 3marks (Q.1 to Q.3 carry | mark each)

1. Does the graph of equation 2x + 3y = 9 pass through the point (-1, 2) or not.

2. In which quadrant does the point whose abscissa is -6 and ordinate is 3 lie?

@ For what value or values of ‘¢’ do the graph of a linear equation ax + by + ¢ + 0 pass

through the origin?

e

Section — B: 3 x 2 = 6 marks (Q.4 to Q.6 carry 2 marks each)

4. If (2p- 1, p) is a solution of the equation 10x — 9y = 12,

then find the vaiue of p.

./ 5. The measure of an angle is four times the measure of its
supplementary angle. Find the two angles. -
6. In the adjoining figure, AB is parallel to CD.

Find the value of x.

igection —C:3 x 3 =9 marks (Q.7 to Q.9 carry 3 marks each)

i)

7. Find solutions of the form (a, 0) and (0, b) for the equation 3x — 2y + 6 = 0.

8. Write the coordinates of a rectangle whose length and breadth-are’s and 3 units

respectively such that one vertex is at the origin, longer side lies on the X-axis and

one of the vertices lies in the third quadrant.




@ The side BC of AABC is produced to point D. The bisector of ZABC anc ~ACD
meet at a point E. If ZBAC = 68°, then find the measure of ZBJ:(.

Section —D: 3 x 4 = 12 marks (Q.10 to Q.12 carry 4 marks each)

~ 10.BO and CO are angle .bisectofs_pf ‘the external angles of AABC (obiuined by
producing sides AB and AC)L Prove that £BOC=90° - %LA

@If two parallel lines are intersected by ar tré;nsversal, prove that the bico 1 two o
pairs of interior angles enclose a rectangle.

12.Draw the graph of the equation 3x + 4y + 12 =0 and shade the repion bounded by

this line and the two axes.




